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PROPERTIES OF QUADRILATERALS — WORKSHEET

COURSE/LEVEL
NSW Secondary High School Year 11 Preliminary Mathematics.

ToriC
Plane Geometry: Properties of Quadrilaterals. (Syllabus Ref: 2.2)
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2. Ineach of the following, ABCD is a parallelogram. Find x, giving reasons.
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3. (a) ABCD isasquare and BP = BQ.

Find x, giving reasons.

3. (b) ABCD is arhombus and CP = BC.

Find x, giving reasons.

4.  ABCD is a thombus. P and Q are midpoints of
sides CD and BC respectively. Show that
(i) AADP=AABQ

(i) AP =AQ

(iiiy ZAPC = ZAQC

5. ABCD is a thombus. AP bisects ZCAB. Let x =
ZCAP and show that

() ZBAD = 4x

(i) ZAPB =3x

6. ABCD is a parallelogram. CP = BC. Show that
ZADC = ZPCD.
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7. ABCD and AQCP are parallelograms. Show that
AADP = AQBC.

8. ABCD is a parallelogram. DC is produced to P such
that CP = CD. AP intersects BC at Q.
Show that CQ = BQ.

9.  ABCD is a parallelogram. Diagonals AC and BD intersect at E.

6)) Show that AAEB = ADEC
(i)  Hence show that DE = BE and AE = CE.

(@iii)  Which property of parallelograms does this prove?

10. ABCD is a rectangle. Diagonals AC and BD intersect at E.
1) Show that AABC = AADB.
(i)  Hence show that AC = BD.

@iii)  Which property of rectangles does this prove?




?’v«;:y{”}:f-ﬁ“w&\ ol Guedritedecls - Wit
1o\ & =% - oo+ 13046y
=2 3o (L gum oF graadal oder\ ) v/
) 2o = deo-fao o) v
b =~ 88 (Leswmmch Qku&é\n\@d@fe\B v/
&) ¢° = 30 - (Gex\oet3e)
= 4o/
DA =\ "/(%\")\{DOS\'\L Ls, poe- (}rg l\gmm)
9 e = 1"/ - P
£ = a0 - 2o
: = Q\CEGV(C@ “nkeviys Ls, (\ \:ﬂzﬁﬁ
i) £ =~Gom Cogp- sides ()C?u\v'&\\&\ﬁgr&w\\
CS = Qom /
?)') q” =T /‘Qe@\? LA ICC’\‘G‘(\g\€>
< b= Zewe Dpp. A ol veck angl )

W o =iles V(Lswn of &, ope. L's o p@:'a\\sog'fom\
D (080 ~10o) 22 (L b socdks AY
2 48y

2, Q) X AN AL = 1€8 (co-twkeviss Ls, Q\ L) 4

2 =40
x o =Fo
) Dx 43 = 3 -2 Laqual opp. sides o - o\ agrOm)
~e¢ = =5
x = Sa. /
O 2x~2 =X A% (Negenads loiscer esen ather)
.o =6 v

2 q) £PDC = 45" (ofenals  ysces LADC)
L&aRP = 1E - L?“SQ qupp\&«\%&o«\( A%\

- 35"
LBe? =% - 25D 52
=22-57
o T 130 =~ 225 -45 (L suma ofF a)

= A2 -5° /




2% 2pag = 27 Lcar (Ac biscets 2 0AR])
= ¥ 555“
=’
. Zpeg— = foo
L ReP = i30 -led Csuppherantovy L)
RO
x" =8> -go (L sam &% ysocele L\>
2
= S /
DC = R ({c:iug\ sidey ok Faeaias)

4. .
DR =2 &% (()Q\V\@X & bisrck D onad CR)
2ADP = LARE (agps Ly o8 vhemdus) {/

/\)’) =~ AR Ce@luﬁ\ sides  ob fr\aw&a)
. ABDP = A ARS (SAY Y
N, AP = AR ( coner. sides , Can (3&&9‘** N's) /
W.2ZAPC = 2 Aac (Cewesp. Ls, cargraent AV

& 1 LDAe = ZCAR (AC bixcks LOAD)
JCAP = LOARCAP bisects 4CAK)

Zoae = . /
RPIVA-YSo BENNERRZR P2
2l /

W ZPAC = b (?ﬁw&’\}
7ehAe = (Gien)
JAPR = LOAC % LCAP)
. /
=25 4 K |
=3y v/
€ LP8C = L3PC (ko s ob  1soceles D)
LADC = LARC.Copp-Ls o} pave\ltogrom)
= ¢ppc ( é«ouevx\ /
£PRC = £ R (powen)
Lo = LPCD (0%, L. Wv&\\&\ \\%)
SLnpe = LPCD




3. Ag=0C Cprp. o .\\8{9\&\)
( )

AG T _ g N,

ARt QR =pCc tOV  /

So@&R T OP

EARPD = LQReC Cgﬂ:@ c‘-‘-&' )\gfo\w)
y )

Ao =% (
2 DAPY =4 &RC (SAS) J

3. nAs ARBond PCas
LAGRE = LCQP (wrr. wp. L3)
DC < Ag= (P CU«?@(:/&& ((%@mg,\,e@
e = AR
LABG = 2Pea (eW Zs, AR
A AR = APca (& Ms)/

g \Nin As ABB oanad DECT
s (pop. o \lgrow)/

- AR =
/RAc = Lpe A Cavw.zs, AR/

4ot = LeEM (Ve opp. Ls) Y

. NAEg—= ODEc (A /

v, A = Ec C Cewves. §\Q\«"-§, em.«\gvum At) /
D A

oA \o'\s{:c% el otlrer.

pe =E&Er ( -
W, ot Yhe ﬁi\o%cﬂc‘xs & o ()W&\\fl\ Qs

"Ll As ABL @ad ADR
e Ap = 15l CG?P,Q‘;&@; =8 rw\omg\@(
Z/Pféxc: =28 ( proe. of 1'(Q"G’ﬂg“l(") )/
Agﬁ»sﬂé@mmo'\ S /
coAAecEznAoR BShs) /
W, AC T Bp (&ﬂm@, ades EeNGrU Y A /

b et %\r\ﬁ C-X\asw.\: o\ 6 veckonQle @Are eq@\‘




